Miss H ) -F answers
Bronze

10.4+4+4+4+4+4+4=287x4=28 1b.4+4+4+4+4+4+4+4=32:

2a.éloisof 4 =24 8x4=32
3a. 2b. 10 lots of 4 = 40
20 3b.
HEHE 16
4a. True ‘ | ‘

4b. False: the answeris 12

la.False; 20+ 4=5 1b. True
2a. 3 2b. 9
3a. 6 3b. 8
4a.8+-4=2 4b. 28 =4=7
5a.4+4+4+4+4+4=24,6x4=24 Eb.4+4+4+4+4+4+4+4+4=3§,
éa. 5 lots of 4 =20 ?x4=36
7a. éb. 7 lots of 4 = 28

28 7b.

40
4|a|4]a|a]4]aa]4]a

ala]a]a]a]a|a
8a. False; the answer is 32

8b. True
5a. False; 40+4=10 Sb. False; 32+-4=8
éa. 6 6b. 4
7a.12 7b. 7
8a.12+4=3 8b.20+4=5

90.4+4+4+4+4+4+4=28;7x4=28 9b. 4+4+4+4+4+4+4+4+4=3§;

100.4+4+4+4=164x4=1% 9x4=36
Ma. 11 x4=44 10b.4+4+4+4+4+4+4=28;
44 7x4=28
4|a|a|a|4|4|4|a]a]a]4 11b.8 x 4 =32

32
alala]ala]a]a]a
12b. False; the answer is 36

12a. False: the answer is 48

9a. True 9b. False; 28 =4=7
10a. 8 10b. 6
11a.7 11b. 11

120. 16 =4=4 12b.12+4=3



